
Integrated Math I                                                     Name: ________________________________________ Period: ______ Date: ____________ 
 

CH. 6, L1 – EXIT SLIP 
	

Objective:	Given	two	congruent	triangles,	I	will	identify	corresponding	congruent	parts	by	analyzing	a	diagram	and/or	
congruence	statement.	I	will	also	distinguish	between	proper	and	improper	names	for	a	given	angle.	

1. Use	the	diagram	to	answer	each	question.	
a. Could	the	marked	angle	be	named	∠𝑉𝑅𝑆?	Explain.	

	
_______	because	_______________________________________________________________	

	
	

b. Could	the	marked	angle	be	named	∠𝑉?	Explain.	
	
_______	because	_______________________________________________________________	
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For	question	#2	–	7,	below,	assume	that	Δ𝑿𝑹𝑷	≅ 	Δ𝑨𝒁𝑽.	
Classify	each	statement	below	as	true	or	false.		If	the	statement	is	false,	rewrite	it	so	that	it	is	true.	

	
2. ∠𝑅	≅∠𝑉 is ____________  

 

3. 𝐴𝑉	≅	𝑋𝑃	is ____________  
	
	
4. Δ𝑋𝑃𝑅	≅	Δ𝐴𝑍𝑉	is ____________ 	
	
Fill	in	the	blank:	
	
5. ∠𝑃𝑋𝑅	≅_________	
	

	
6. 𝑋𝑅	≅_________	
	

	
7. Δ𝑍𝐴𝑉	≅_________	
	

	
8. Multiple	choice:	If	Δ𝐽𝐾𝐿	≅	Δ𝑀𝑁𝑂,	which	statement	below	is	always	true?	

	
(A) ∠𝐾𝐿𝐽	≅	∠𝑁𝑀𝑂	 (B) ∠𝐾𝐽𝐿	≅	∠𝑀𝑂𝑁	 (C) 𝐽𝐿≅	𝑀𝑂	 (D) 𝐽𝐾≅	𝑂𝑁	

	
	
9. In	the	diagram	below,	Δ𝐴𝐶𝐵	≅	Δ𝑋𝑍𝑌,	𝑚∠𝑋	=	40o,	and	𝑚∠𝑍	=	84o.	

What	is	𝑚∠𝐶?	Explain.	
	
𝑚∠𝐶 = _______° because	___________________________________________________	
_______________________________________________________________________________	
_______________________________________________________________________________	
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(E) ∠𝐾𝐿𝐽	≅	∠𝑁𝑀𝑂	 (F) ∠𝐾𝐽𝐿	≅	∠𝑀𝑂𝑁	 (G) 𝐽𝐿≅	𝑀𝑂	 (H) 𝐽𝐾≅	𝑂𝑁	
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